saxog yje\ 2=

Math Boxes

Lesson 8-1
DATE TIME

@ a. Using a protractor, draw angle ACB
with a measure of 90°.

|

fraction

d. 2is the

) multiple of the

=

unit fraction %.

3 ,3_
a 2 + 2-
b. Draw a line segment to connect
point A and point B. 6 5 _ 14
b. g+ +3=%
2 4 _
C 5 + B
4 5 6 s
c. Triangle ABC is a
triangle. ’ @ N
@ Fill in the blanks. Fill in the blanks.
a. % is a multiple of the unit fraction a. 3 gallons = quarts
b. 4 pints = cups
b. % is the seventh multiple of the unit _
c. .bcups = fluid ounces
fraction S o
5 o ‘ d. ____ quarts = 10 pints
c. & Is the twelfth multiple’of the unit '
Za F e. 7 quarts = cups

SRB

196-197

of angle ATC without using a protractor.

Answer:

@ Writing/Reasoning Explain how you solved this problem.

The measure of angle BTC is 112°. The measure of angle ATB is 43°. Find the measure

B
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Math Boxes

| €@ solve.

Lesson 8-2

I 173174 l

the same distance. How many feet

& e Subtract.
a 8-3-
a. 53,012 b. 8)4, 76 1 "6 6
q 3 _
b. 0 " 10
4 _ 7
C § = § T
11 =
d 5= =
© Add The race is 1,760 ya
4 1
a 33 + 55
will each runner run?
5 3 _
b 55 + 7—8— =
7 qQ _
C. 6E + 55 =
3 q _
d. 4E + 75 |
FTFZ:"“’ | Answer:
© solve. @ Muttiply.
a. 4 % - a. 6, 305
* 7
q _
b. 3 * 10 =
C. 7 % 2=
8 . . 1
d ¢ Is the multiple of Z.

rds long. The
4 runners on our team will each run

L
12

-

11114,
186-187

feet

[
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Lesson 8-3

o

qa. Using a protractor, draw angle PWR | Q Add. |
with a measure of 105°. 3 4 _ =
agts” |
= |
wjud |
5,3, 4 § !
b —6- + g + 'g = = ‘
[ [ ]
c%+%+ =%,or1% .}
il
4 48, 8 _ |
b. Angle PWR is a/an acute/right/obtuse * 700 ' 100 e i
angle. IH
— il
= 160-161 |
S = _ =
€@ Fill in the blanks. @ rill in the best answer. I
. 1l
| ' a. —1% is a niul_t_i_ple of the unit One gallon is equal to . . . i
fraction . O 4 quarts
5 . . . :
b. - is the fifth muitiple of the unit
10 P O 8 pints
fraction
O 16 cups
c. . isthe twelfth
. . S : O All of the above
multiple of the unit fraction . ' :
| 6 . gt om0 _ (O None of the above
. d. 5 is the sixth multiple of the unit
'
| fraction m W
(5] Writing/Reasoning Fill in the blanks to explain how you found your answer il
to Problem 3a. | “'
The fraction qu_ is the multiple of the unit fraction . | ‘j
| | |
!} | | know this because 9 * = : '. |




Lesson 8-4

| DATE TIME

' .
i =
i = dhe —EE
i o a. 3)5 641 b. 8)8, 1 0 7 | 55
@
il x -1_2
| 8 ? e
4 _ 7 _
| C. 2=735
11 _ 4
FE1 d3-_ =1 FE‘
M-114 16_0_1E1
| @ Add. 6 The Knitting Club collected leftover pieces
| : 1 ! of yarn. It has 3,450 feet of lamb’s
I a.lg+lg=__ ' wool yarn, 1,488 feet of linen yarn, and
I ] 2,568 feet of merino wool yarn. The club
| | b. 3% + 2% - plans.to donate the yarn in equal shares

to the art departments-at 6 schools. How

e 5 many yards of yarn will each school get?
C. 5€ + 26 = ;ﬁ

| ;'J SRB
s 1114,
(1 -'.!\ - m Answer: ____ gards 186-167

B @ Circle the correct answer. @ Mutiply.

5*§= | a. 8 137 b.
* 6 *

i 30
A2

35
8

B
C. 30
D

|
[ ==
| 40
2] | =
40
{ SRB SRB

173174 103108

284




Lesson 8-5

Math Boxes

@ How many degrees will Paula-néed to The Merman family used 3,955 liters of
~ move the back of her chair to be able to water in a week. The Santana family used |
lie flat? 4,263 liters dunng the same week. On
average, how much more water did the
Santanas use in 1 dag/than the
130° ? Mermans?

o

Number model:
Equation with unknown:

L

Answer: ____liters

o SRB
Answer: |2“'2‘2| How mang mListhis? __ mL

O Add O Subtract.

IV T, T

5 o1
a. 4—+5100 a. 65— 25 =
8 1 3_ . 52
b. 3m+ 210 b. SZ -24
1 | 2 _ -

% C- 7100+4 I | ¢.53=___ =3
& !
i d. 83 +52 = d. 9% — 2L =
L T0) m — * 12 12

FE1 |

| 211-212 I
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Math Boxes

_ 15
d. -5 * 4,or3

B

Lesson 8-6

DATE [ j

SRB

103108

@ Casey charges $11 per hour to babysit
 infants and $9 per hour for toddlers. She
babysat infants for 22 hours and toddlers

for 18 hours. How much more does she
need to earn to buy a $450 bike? ’

Estimate:

Number model with unknown:

-z

- !“.'11"":’.-'\"-7?|"" PErwe) 3 - e b

I 26,47 l

. ]

@ Which costs less: 4 cups of fruit punch at
$0.59 per cup or 5 cups of orange juice
at $0.49 per cup?

Number models:

Answer:

How much less? $

s Math Boxes

e Plot the bracelet lengths (in inches) on the line plot below:

1 ,1 ,1 1
55, 43, 53, 4%, af, 4,52 5%, 43 4, 43, 43, 42, 4%, 55, 43, 43, 4%, 5%

Bracelet Lengths

i 4+
31 4 41 5 51
Length (inches)
a. What is the difference between the longest and the shortest lengths? in.
b. How many bracelets were sold that were less than 5 inches long? bracelets

’ 215-216 !
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